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2 1,995,000
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oJe=3 42,3009 %12 %212 8,968
OET-TPN=! 42,3009 * 12 »02Y 3,892
OEEL] 5,0002! * 124 %212 1,080
OREH| 5,0002! %124 %212 1,060
Od=E4g 800
TSN 40,0008 * 12+ 102 400
L E % 20,000 *2 % * 10" 400
OY =Sty 400,0008! *12 *23] 800
201 YEreA| 38,724 38,724 0
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oY= 33,924
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203 YSRF&H| 1,800 900 900
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s 1,995,000
= 1,757,000
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O2Y 4 S2EFTAHSZ L=400m,
B=3.0n 28,680,0002 28,680
2 20,076
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s 66,921
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OHY2SE NN (B4H)
1,800,000,000& 1,800,000
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OS& H=0I2 MSAE SXTAHE
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i 3,078
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Bl K& A 172,595 27,515 145,080
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o1l =l 1,280
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ogx=z 800
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02 23293l 900 900 0
OAlE &= XYl 900
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02 MY 19,200 19,200 0
COERZE 19,200,000& 19,200

307 glz2told 40,000 0 40,000

SEEEEE 40,000 0 40,000
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40,000,000& 40,000

401 Al&HIZL2C0HYI 105,900 0 105,900

01 Al&HI 105,000 0 105,000
o2 ettt &Mz =4 105,000
O&a A& AHHI 5,000, 000& 5,000
O3 AtHI 100,000, 000& 100,000

03 AlZ=2C0HYI 900 0 900
© 2ottt &Mz =4 900,000& 900

SAINEALS XA 317,071 5,881 311,190

201 Letd| 2,281 2,281 0

01 At 2eld] 1,281 1,281 0
oget=EHl 1,281
OZeldE=s #g 200,000& 200
OAME & HEQI5} 800,000& 800
OFL ABE 72 281,000& 281

02 ==29gHl 1,000 1,000 0
o=3g=3 % HMA 1,000
O=2&gs g o 1,000, 000& 1,000
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o24E LB AT 311,190
O& A& AHI 300,000,000& *3.73% 11,190
O3 Attl 300,000,000 300,000
HY2IZHI(ZAID) 111,762 120,746 N8,984
olA2HHI (S Al 4,200 4,200 0
eI 2| 4,200 4,200 0
203 HRF&H 4,200 4,200 0
04 RAN2SELR2F2H 4,200 4,200 0
ORANZEHR=A 350,000& 123 4,200
Jl2ZHI(Z Al 107,562 116,546 N8,984
Jl=&d| 107,562 116,546 A8,984
201 LEHRHH| 32,682 33,026 A 344
01 AtS2cldl 32,682 33,026 A 344
Ogtt==3ZH| 10,842
OsAdMa2S 10,842,000 10,842
O=¢etl 21,840
OosdNa=2d 21,840,000& 21,840
202 Od4Hl 74,880 83,520 A8,640
01 =LHAHI 74,880 83,520 8,640
O& Lo bl 74,880,000 74,880




